



St. Louis County, Minnesota

Date of Report: 5/17/2025 10:19:50 PM

General Details									
Parcel ID:	380-0010-03765								
Legal Description Details									
Plat Name:	GRAND LAKE	GRAND LAKE							
Section	Town	Township Range Lot							
18	51	16		-	-				
Description:	WLY 660 FT OF	G.L.4							
		Taxpayer Deta	ils						
Taxpayer Name	FOSTER GREGORY A & CHRISLIN A								
and Address:	7081 INDUSTRIA	L RD							
	SAGINAW MN 5	5779							
		O D. (-'1							
O	FOOTED ODEOG	Owner Details	5						
Owner Name	FOSTER GREGO								
		Payable 2025 Tax Si	ımmary						
	2025 - Net Ta	ax		\$3,945.00					
	2025 - Specia	al Assessments	essments \$29.00						
		-1 T 0 O'-1 A		¢2.074.00					
	2025 - Tot	al Tax & Special Assessr	nents	\$3,974.00					
		Current Tax Due (as of	5/16/2025)						
Due May 1	5	Due October	5	Total Due	Total Due				
2025 - 1st Half Tax	\$1,987.00	2025 - 2nd Half Tax	\$1,987.00	2025 - 1st Half Tax Due	\$0.00				
2025 - 1st Half Tax Paid	\$1,987.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$1,987.00				
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$1,987.00	2025 - Total Due	\$1,987.00				

**Parcel Details** 

Property Address: 7081 INDUSTRIAL RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: FOSTER, GREGORY A & CHRISLIN A

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$119,200	\$259,000	\$378,200	\$0	\$0	-		
111	0 - Non Homestead	\$24,700	\$0	\$24,700	\$0	\$0	-		
Total:		\$143,900	\$259,000	\$402,900	\$0	\$0	3904		





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:19:50 PM

**Land Details** 

Deeded Acres: 20.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

s code a pesc.	=					
wer Code & Desc:	S - ON-SITE SAN	ITARY SYSTE	EM			
t Width:	0.00					
t Depth:	0.00					
e dimensions shown are n	ot guaranteed to be su	rvey quality. A	Additional lo	t information can b	e found at	
ps://apps.stlouiscountymn.	.gov/webPlatsIframe/fr	mPlatStatPop	Up.aspx. If t	here are any ques	tions, please email Property1	ax@stlouiscountymn.go
		Improve	ment 1 D	etails (HOUSE	≣)	
Improvement Type	Year Built	Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		<b>Basement Finish</b>	Style Code & Des
MANUFACTURED HOME	1993	1,45	56	1,456	-	DBL - DBL WIDE
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	26	56	1,456	-	
DK	1	2	24	48	POST ON G	ROUND
DK	1	8	24	192	POST ON G	ROUND
DK	1	12	18	216	POST ON G	ROUND
SP	1	10	24	240	POST ON G	ROUND
Bath Count	Bedroom Cou	ınt	Room (	Count	Fireplace Count	HVAC
2.0 BATHS	3 BEDROOM	S	-		-	CENTRAL, PROPANE
		Improven	nent 2 De	tails (DG 30X4	40)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
GARAGE	2019	1,20	00	1,200	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	30	40	1,200	-	
		Improven	nent 3 De	tails (DG 26X	36)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
GARAGE	1992	93	6	936	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	26	36	936	-	
		Improver	nent 4 De	etails (PB 36X4	45)	
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
POLE BUILDING	1997	1,62	20	1,620	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	36	45	1,620	POST ON G	ROUND
		Improve	ement 5 D	etails (SAUNA	A)	
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
SAUNA	2017	16	0	160	-	-
Segment	Story	Width	Length	Area	Foundate	ion
BAS	1	10	16	160	FLOATING	SLAR

2 of 4





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:19:50 PM

	V 5 "	-		(SHED 8X8)						
Improvement Type				ss Area Ft <sup>2</sup>		Basement Finish Style Code & D				
STORAGE BUILDIN		64	•	64						
Segmen		y Width 8	<b>Length</b> 8	<b>Area</b> 64	Foundation POST ON GROUND					
BAS	1		•	*	POSTON	GROUND				
Improvement 7 Details (SHED 12X20)										
Improvement Type				ss Area Ft <sup>2</sup>			le Code & Desc.			
BARN	2001	24	0	240						
Segmen			Width Length Are		Foundation					
BAS	1	12	20	240	POST ON	GROUND				
		Sales Reported	to the St. Lo	uis County Au	ditor					
No Sales informati	tion reported.	-		-						
	1									
		A	ssessment H	story	Def					
	Class Code	Class Code Land		Bldg Total		Def Bldg				
Year	(Legend)	EMV	EMV	EMV	Land EMV	EM\	,			
	201	\$119,200	\$264,100	\$383,30	0 \$0	\$0	-			
2024 Payable 2025	111	\$24,700	\$0	\$24,700	\$0	\$0	-			
	Total	\$143,900	\$264,100	\$408,00	0 \$0	\$0	3,959.00			
	201	\$92,000	\$195,600	\$287,60	0 \$0	\$0	-			
2023 Payable 2024	111	\$18,700	\$0	\$18,700	\$0	\$0	-			
	Total	\$110,700	\$195,600	\$306,30	0 \$0	\$0	2,949.00			
	201	\$45,800	\$169,700	\$215,50	0 \$0	\$0	-			
2022 Payable 2023	111	\$16,800	\$0	\$16,800	\$0	\$0	-			
2022 : 3,33.6 2020	Total	\$62,600	\$169,700	\$232,30	0 \$0	\$0	2,145.00			
2021 Payable 2022	201	\$43,800	\$140,500	\$184,30	0 \$0	\$0	-			
	111	\$15,300	\$0	\$15,300	\$0	\$0	-			
	Total	\$59,100	\$140,500	\$199,60	0 \$0	\$0	1,789.00			
		1	Γax Detail His	tory						
			Total Tax &							
Tax Year	Tax	Special Assessments	Special Assessment	s Taxable Lar	Taxable Bu		Total Taxable MV			
2024	\$3,127.00	\$25.00	\$3,152.00	\$ 1 axable Lar \$107,06			\$294,944			
2024	\$2,391.00	\$25.00	\$2,416.00	\$58,807			\$294,944			
2023	\$2,265.00	\$25.00	\$2,410.00	\$54,192	, ,		\$178,947			
2022	Ψ2,200.00	Ψ20.00	Ψ2,280.00	φυ <del>4</del> , 192	φ124,7	00	ψ110,541			





St. Louis County, Minnesota

Date of Report: 5/17/2025 10:19:50 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.